O 1™ o] €iio] dol7t g, 9w
dol7h bRl Atte| &Y} BPAFE P AECD
oA AT BEO] AABE ©] WolE s 2
st § & 7ok A2 75t o] A& hel
wato] 29

S s s
®h:2(a—b) @h=0 ©n=1"5
@ h= S ® h= 25



A% m, n ol TSte] man = dm—3n 2L oI ), b AV
Zol 4] xa3y = 6a(-2) 2 S A-L?

@ (2, 1) @ (-1, 3) ® (0, 4)
@ (3, -2) ® 4, -2)



Qg { 7T
2x=—-y—-2

™9

® 1, -3)

® (-4, 6)

® 7} 45| H},

ftlo



)

2% 32 x52

23%x32%x5
143
2x52x11

Q@ @®

75
22 x 52

@ © ® © ® @ ® ©®

ONQ)



5.

44x+2 — 82x+4 ?E]' [[H’ XQ/] %}\I—_‘O:‘)

D 2 ® 4 B 6

A 10



-2 - _
A= gt 33y A, 24— {B-2(A-B)} £ x, yo B
Hog ehw?

@® 3x-7y @ 3x-y ® 2x -4y

@ x-3y ® x-y



o | <H
|
2
© M
| |
~ ~
= =
<t <t
~ ~
>~ -~
o [ <HD I
+ +
>,
LN
m —
o+ A+
~ ~ ~
= = =
<t <t [enen | <



—8x%y + 4xy? B 6xy? + 9x2y

Zre9
"oy 30y =ax+by € W, a+b o 327

@D -3 ® -2 B -1 @ 0 B 1






10.

the FAL WAt o, b ol Thste] 20— 3b O FE? (Tn
2}

20x42 +8=2°
(_1)n+2 % (_1)n+3 =b

D 11 ? =11

B -5




Ol

11. 2B+1)E2+ 1B + )38+ 1) =3+ b W, A5 a, b Fa+b

of gre?

I

@D 15 ® 16 3 -15 @ -16 3B 9



6 1
12. b+;:c_f_1:2%‘ o, abc — 3 2] 327
a

D1 @ 0 ® -1 @ 2



13.

I
2 x5x7%xa

o |
Z—}I"EGT:.

H A
T

@D 4 ® 5

£ 4252 e

i)



ol
.

® 315 @) 410 @ 5° B 6°

@ 220



©9

=, a9 %t

oF
o

A

dx+ay=3

@ 2 B 3

1



